Algebra 1. Unit 8, lesson 4 Notes: Solving Systems of Linear inequalities Name: 6 (
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At the Johnson house they make a budget each month and stick to it!! They like to have fun as a family so
their entertamment budget is made up of S24O dollars For enter‘tammen‘t they go out to dmner whlch costs

thaq4 entertamment activities a month and to NEVER spend more than S24O

Write the system of linear inegualities:
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‘Interpret the inequality in a sentence:
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fnterpret the inequality in a sentence:
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Graph the 17 linear inequality

What are three solutions to the 1% inequality:

Graph the 2™ linear inequality

What are three solutions to the 2” mequallty (2i W} {(; i} [ :g} i{)
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Algebra 1: Unit 8, lesson 4 Notes: Solving Systems of Linear Inequalities Name:

What are three solutions to the system of inequalities:
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What are three non-solutions to the system of inequalities:
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Is {3, 4) a solution?. Explain?
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Solving the system of linear inequalities by graphing:
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What are three solutions to the system of inequalities;
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What are three non-solutionsto the system of inequalities:
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Identify three solutions and one non-solution. -

] Solve the system of linear inequalities by graphing.
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Identify three solutions: Identify three solutions:
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Identify three solutions:

(6,-3) (19-8) (3

identify one non-solution:

(v,9)

Identify three solutions:
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identify one non-soluticn:
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Solve

the real-world situation by graphing linear inequalities. ..
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Elizabeth makes $10 per hour babysitting and $5 per hour gardening.
She wants to make at least $100 a week, but can work no more than 15
hours a week.

a) ldentify your variables.
B = hours spent bﬂbJsfﬂ-mj &~ X
G= hows spent Gprolnng «— 9
b) Write the system of linear inequalities that can be used to
. represent this situation.

B+&G =15 = GBS
YoB+35¢ = ¥I00 <= (6 = -2R+20

X
c) Graph the system of I‘?near inequalities. Label your x- and y-axis
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Elizabeth could work at each job.
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Babysitting

o e )
d) Describe and list five possible combinations of hour?%ﬁjat ‘

Ticket out the Door

If you were Elizabeth what
would you plan on doing
and why?
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